MaTtemaTtuka - 5 knacc

Tema ypoka:
«EQuUHUUBLI UsMmepeHus
naowaoeu»



1. YTO Takoe ap, rekrtap?
2. [1nga 4yero oHU HY>XHbI?
3. [ae nx npuMeHaT?









[lpoBepb OTBETHI Y cocenal

24 cm?
121 am?
6 cm
26 CM



Bbipa3uTb B 3a4aHHbIX eanHuLax nnoLwaan

2

2 nM? = CM
400 cm? = nm?2
15 M? = nm?2
3000 gm? = M2
3 M3 = cCM?
120000 cm? = M2












1a=100 kB.M

8a=
60 a
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cTaAUOH

Mnouwanp
AAYHBLIX y4acTKOB
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nocesamu

TTnowanb ropoaa

TTnowanas
NleCHbIX Yroauu




EavHvubl nnowanu

‘2 B -



EavHvubl nnowanu

1 cMm? MM?

1 am? CM?

1 M2 nm?
2

1a M

1ra a

1 KM? ra
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